
 
  
 



 

In order to simplify the report, attached plots were only the most lowest datarate

802.11ax HE 20 Ch.2(5935 MHz) 26 Tones MCS0 

 
 

802.11ax HE 20 Ch.2(5935 MHz) SU MCS0 

 
  



802.11ax HE 40 Ch.3(5965 MHz) 26 Tones MCS0 

 
 

 
802.11ax HE 40 Ch.3(5965 MHz) SU MCS0  

 
 



802.11ax HE 80 Ch.7(5985 MHz) 26 Tones MCS0 

 
 
 
 

802.11ax HE 80 Ch.7(5985 MHz) SU MCS0 



802.11ax HE 160 Ch.15(6025 MHz) 26 Tones MCS0 

 
 
 
 

802.11ax HE 160 Ch.15(6025 MHz) SU MCS0 



 
802.11a Ch.1(5955 MHz) 6 Mbps 
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802.11a Ch.93(6415MHz) SU

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-1.324  0.096  -1.228  -1.864  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE20 Ch.45(6175MHz) 52 Tones RU 37

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-0.906  0.030  -0.876  -1.513  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE40 Ch.91(6405MHz) 106 Tones RU 53

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-0.611  0.027  -0.584  -1.221  

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 
 



802.11ax HE80 Ch.39(6145 MHz) 52 Tones RU 52

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-0.581  0.030  -0.552  -1.188 

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_L Ch.47(6185MHz) 106 Tones RU 57

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-1.033  0.027  -1.006  -1.643 

 
 
Note: 
 
SUM PSD(dBm/MHz) = 10log(((10^(Ant 1 PSD /10)+10^(Ant 2 PSD/10))) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Total PSD (dBm/MHz) + Directional Gain(dBi) 


